Vahova korekce CZIL indexu

Take-Off Mass TOM Vzletova hmotnost

Reference Mass RM

Referenéni hmotnost

Mass adjustments to CZIL handicaps

If the TOM is greater than RM, then the handicap will be increased by 0,1 for each 3 kg or part thereof that the TOM exceeds RM.
Jestlize je TOM vétSi nez RM, index se zvySuje o 0,1 za kazdé zapocaté 3kg navic.

Example:
Priklad:

Take-Off Mass — RM

Handicap is increased by

=0 0
>0<3 0,1
>3<6 0,2

etc. etc.

The handicap will be reduced by 0,1 for each whole multiple of 3 kg that the TOM is less than RM.
Index se snizuje 0 0,1 za kazdy celociselny nasobek 3kg pod referenéni hmotnosti.

Example:
Priklad:

RM — Take-Off Mass

Handicap is reduced by

20<3 0

23<6 0,1

26<9 0,2
etc. etc.
=18 max. 0,6




